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NEW QUESTION 1

Given:

public static vold main(Stringl[] args) |
String ta = "A ";
ta = ta.concat ("B ") ;
Stirrng £h = HC M

ta = ta.concat (th)
ta.replace (TCT, TDT);
ta = ta.concat (th)
System.out.println (ta) ;

}

What is the result?

A.ABCD
B.ACD
C.ACDD
D.ABD
E.ABDC

Answer: C

NEW QUESTION 2
Given the code fragment:

public static void main({String[] args)} {
int ans;

try {
int num = 10;
int div = 0;
ans = num / div;
} catch (ArithmeticException ae) {
ans = 0; S/ line nl

} catch (Exception e) {
System.out.println("Invalid calculation");

}

System.out.println("Answer =

b

+ ans):; // line n2
}
What is the result?

A. Answer =0

B. Invalid calculation

C. Compilation fails only at line n1.

D. Compilation fails only at line n2.

E. Compilation fails at line n1 and line2.

Answer: C

Explanation:

public class Test {
public static wvoid main{String[] args) {

int ans:
try {
int num = 10;
int diw 0
ans = num / div;
} catch (ArithmeticException ae) {
ans 0z

} catch (Exception e) {
Quatem. ot . nrintInt"Tnvalid maleuliation”);
[avariab;e ans might not have been initialized
[ ] System.out.println("Answer " + ans); f/line n2

}

NEW QUESTION 3
You are asked to create a method that accepts an array of integers and returns the highest value from that array.
Given the code fragment:
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class Test{

public static void main(String[] args) {

int numbers([] = {12, 13,

42,

32

int[] keys = findMax (numbers) ;

/*¥ line nl */ {
int[] keys = new int[3];
/* code goes here*/
return keys;

}

Which method signature do you use at line n1?

A. public int findMax (int[] numbers)
B. static int[] findMax (int[] max)

C. static int findMax (int[] numbers)
D. final int findMax (int[] )

Answer: C

NEW QUESTION 4
Given the code fragments:

clas=s Student |
String name;
int age;

And:

4 . public class Test {

5. public static void main(Stringl] args)
B Student sl = new Student();

p e Student =22 = new Student();

g. Student =3

= new Student() ;
9. g8l = 83,
10. 83 = g2;
11. 52 = null;
12. 1}
13.1}

Which statement is true?

A. After line 11, three objects are eligible for garbage collection.
B. After line 11, two objects are eligible for garbage collection.
C. After line 11, one object is eligible for garbage collection.

D. After line 11, none of the objects are eligible for garbage collection.

Answer: C

NEW QUESTION 5
Given the following classes:

Your Partner of IT Exam

15,

156,

2%

51,

L2t

visit - https://www.exambible.com



We recommend you to try the PREMIUM 1z0-808 Dumps From Exambible
exam blb|@ https://www.exambible.com/1z0-808-exam/ (223 Q&AS)

public class Emplovee {
public int salary;

public class Manager extends Emplovee ({
public int budget:;

public class Director extends Manager |
public int stockOptions;

}
And given the following main method:

public static void main(8tringl[] args) |
Employee employee = new Employee() s

Manager manager = new Manager():;
Director director = new Director():
//line nl

}

Which two options fail to compile when placed at line n1 of the main method? (Choose two.)

A. employee.salary = 50_000;

B. director.salary = 80_000;

C. employee.budget = 200_000;
D. manager.budget =1 000_000;
E. manager.stockOption = 500;

F. director.stockOptions = 1_000;

Answer: CE

NEW QUESTION 6
Given the following main method:

public static void main(8tring[] args) {

int num = 5;
do

System.out. print (num-- +" ") ;
' while (num == 0);

}

What is the result?

A.543210
B.54321
C.421

D.5

E. Nothing is printed

Answer: D

NEW QUESTION 7
Given the code fragments:
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Person.java:

public class Person {
String name;
int age;

public Person(String n, int a) |
name = n;
age = a;

public String getName () |
recurn name;

public int getAge () {
return age;

Test.java:

public static void checkAge (List<Person> list, Predicate<Person> predicate) |
for (Person p : list) {

if (predicate.test(p)) f{
System.out.println(p.name + " ");

}

public static void main(String[] args) |
List<Person> ilist = Arrays.aslList (new Person("Hank", 45),

new Person("Charlie”, 40),

new Person("Smith", 38));
/fline nl

Which code fragment, when inserted at line n1, enables the code to print Hank?
A

checkage (ilList, ( ) -> p. get Age ( ) > 40);

checkfAge (1List, Person p -> p.getge( ) > 40);

checkAge (ilist, p -> p.getRhRge ( ) > 40);

checkage (iList, (Person p) -> { p.getARge() > 40; 1}):

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 8
Given the code fragment:

public static wvoid main (String[] args) {

String[] arr = (“Hi"”, “How"”, “are”, “You");

List<8tring>» arrlList = new ArrayList<> (Arrays.asli=st (arr);

if (arrList.removeIf((String =) -> (return s.length(}) <= 2;})) {
System.cut.printlni=z + “removed™)”’
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What is the result?

A. Compilation fails.

B. Hi removed

C. An UnsupportedOperationException is thrown at runtime.
D. The program compiles, but it prints nothing.

Answer: A

NEW QUESTION 9
Given the code fragment:

int = = 100;

int a = z=++;
int b = ++=;
int < = z=++;

int d = {a < kY 2 (a < <) 2 a: (b <c 17 b o x;
gyvestem.out.printlnid) ;

What is the result?

A. 100
B. 101
C. 102
D. 103
E. Compilation fails

Answer: E

NEW QUESTION 10
Given this code for a Planet object:
public class Planet |
public String name;
public int moons;

public Planet (String name, int moons)
this.name = name;
this.moons = moons;

And this method:

public static wold main(String[] args) {
Planet[] planets = {
new Planet ("Mercury”, 0),
new Planet ("Venus", 0),
new Planet ("Earth", 1),
new Planet ("Mars"”, 2)

System.out.println(planets) ;

System.out.println(planets[2].name) ;

System.out.println(planets([2].moons) ;
}

What is the output?
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A
planets
Earth
1

B
[LPlanet=s.Planet; @3154kL9742
Earth
1

C
[LPlanets=.Planst; @15dkL2742
Planets=s. Planet@dadiadadc
1

1]
[LFlanst=. FPlanst; 31542742
Planets. Planet@adiadafc
[LPlansets . Moon; @7/852=922

E
[LEPlanet=s. Planet; @15dkL9742
Wenus
]

A. Option A

B. Option B

C. Option C

D. Option D

E. Option E

Answer: C

NEW QUESTION 10
Given:

public class App {
int count:
public static void displayMsg () ({
count++;
System.out.println (“"Welcome "“+"Visit Count:

ic void main (String [] args)
ayMsg ()«
ayMs=g () !

What is the result?

A. Compilation fails at line n3 and line n4.
B. Compilation fails at line n1 and line n2.
C. Welcome Visit Count:1Welcome Visit Count: 1
D. Welcome Visit Count:1Welcome Visit Count: 2

Answer: B

NEW QUESTION 12
Which two are benefits of polymorphism? (Choose two.)

A. Faster code at runtime

B. More efficient code at runtime

C. More dynamic code at runtime

D. More flexible and reusable code

E. Code that is protected from extension by other classes

Answer: BD

NEW QUESTION 16
Which statement is true about the switch statement?
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A. It must contain the default section.

B. The break statement, at the end of each case block, is mandatory.
C. Its case label literals can be changed at runtime.

D. Its expression must evaluate to a single value.

Answer: D

NEW QUESTION 17
Given:

cla

33
pub
E

public st
A bl
A b2

o
—
]

What is the result?

A. AB
B. AC
C.CC

.out.printin (“B"):

o

extends A |
test ()

T e T - WA =
l.out.printin (7C™)7;

c void main (String [] args) |
w A ()
W C ()
bi; //1line nl

{(B) bZ:; f/line n2

D. A ClassCastException is thrown only at line n1.
E. A ClassCastException is thrown only at line n2.

Answer: B

NEW QUESTION 22
Given the code fragment

sntiin 4]
for (int

]

-
L
i

i

{{1, 3}, {2, 41}};
n.length-1; 1 »>= 0; 1—-} {
for {int vy

nfx3l) f

System.out.print (y}:

What is the result?
A. 1324
B. 2313
C. 3142
D. 4231

Answer: D

NEW QUESTION 25

Given the code fragment:
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public static voild main(Stringl] args) |
LAt G4l = 03
Znt AT = R
Fort (11 = Op 11 # 43+ L@ 34 = 34 & 23 o
gyeten. out . printifil “F * "y

'
What is the result?

A 24

B.0246

C.024

D. Compilation fails

Answer: C

NEW QUESTION 26
Given:

public class App {
int count;
public static void d
System.out.print

isplayMsg () {
ln("Welcome Visit Count: " + count++):; // line nl

}
public static void main(String[] args) {

displayMsg () // line n2
}
What is the result?

A. Welcome Visit Count:0Welcome Visit Count: 1
B. Compilation fails at line n2.
C. Compilation fails at line nl.
D. Welcome Visit Count:0Welcome Visit Count: O

Answer: C

Explanation:

public class hpp {
int count:
public static wolid displayMsg({) {
8 System.out.printlin{"Welcome Visit Count: " + count ++): //line nl
1
public sztatic woid main{String[] args} {
App.displayMsg();
displayMsg();
1
}

NEW QUESTION 28
Given the code from the Greeting.Java file:

public class Greeting |
public static void mainiStringl[] args) |
System.out.println{"Hello " + args[0]1);

}

Which set of commands prints Hello Duke in the console?

&) javac Gresting
java Greeting Duke

~ B) javac Greeting.java Duke
java Greeting

~ Bl avad Bredting. java
java Greeting Duke

~ [0} javac Gresting. java
java Greeting.class Duke

A. Option A
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B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 32
Given the code fragment:

public static wvoid main(String[] args)

LocalDate date = LocalDate.of (2012,
date.plusDays (10) ;
System.out.println(date) ;

i
i

What is the result?

A. 2012-02-10 00:00

B. 2012-01-30

C. 2012-02-10

D. A DateTimeException is thrown at runtime.

Answer: B

Explanation:
Mainjava |
import java.time.localDate;
2 import java.time,Month;

4§ public class Main {

5 public static void main{String[] args) {

b LocalDate date = Localdate.of(2812, 1, 30);
date. plusays(10);
System,out.println(date);

oo

A
b
1
1

o
f—

NEW QUESTION 36
Given:

class Patient |{
String name;
public Patient (String name)
this.name = name;

And the code fragment:

Your Partner of IT Exam
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Java(TM) SE Runtime Environment (build 1.8.0.31-b13)
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8. public class Test {

g. public static void main (String [] args) |
10 List ps = new Arraylist ():

11 Patient p2 = new Patient (“Mike):

i 7.8 ps.add(p2) ;

13.

14, // insert code here

15.

16. if (£ >= 0) {

1V System.out.print (“Mike Found”):
18. }

19. }

20. }

Which code fragment, when inserted at line 14, enables the code to print Mike Found?

A
int £ = ps.index0f (pZ);
B
int f = ps.indexCf (Patient (“Mike”)} )
C
int £ = pe.index0f (new Patient “Mike") );
B]
Patient p = new Patient ("Mike");
int £ = ps.index0f (p)
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A

NEW QUESTION 37
Given the code fragment:
public class Employves |
String name;
boolean contract:
doubkle =zalary;
Emploves () |
/4 line nl
1
public String toString(){
return names + ":" + contract +

+ =alary:

1

public static vold main(Stringl[] args) |
Emploves & = new Emploves () ;
/4 line nZ
System.out.print (e) ;

}

Which two modifications, when made independently, enable the code to print Joe:true: 100.0? (Choose two.)
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O &) Replace 1ine nZ with:
e, name = "Joe™;
e.contract = tLrue;
e.galary = 100;

O B) Replace 1ine nZ with:
thisg.name = "Joe";
this.contract = true;
this.zalary = 100;

U C) Replace 1ine nl with:
thizg.name = new String("Joe");
thiz.contract = new Eoolean(true) ;
this.sgalary = new Double (100) ;

O D) Replace 1ine nl with;
nams = "Joa";

contracst = TRUE !
galary = 100.0f;

O E) Replace 1ine nl with:
thi=z ("Joe", trues, 1007 ;:

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: AC
NEW QUESTION 38
Given:

class Product {
double price;

public class Test {

public void updatePrice (Product product, double price)

price = price * 2;

product.price = product.price + price;

H

public static void main(String(]
Product prt = new Product ()} ;
prt.price = 200;
double newPrice = 100;

Test £t = new Test ()
t.updatePrice (prt, newPrice);

System.out.println (prt.price +

H

What is the result?
A. 200.0: 100.0

B. 400.0 : 200.0

C. 400.0: 100.0

D. Compilation fails.
Answer: C

NEW QUESTION 39
Given:
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class &
public wvoid test () {
System.out.println("a ");
}
}

class B extends A
public woid test () {
System.out.println({"B ");
}
}

public class C extends A {
public woid test () {
System.out.println{"C ");
}

public static void main(8tring[] args) |{
A bl = new A();
A b2 = new C();

A b3 = (B} b2; //1line nl
bl = (a) b2: //1line nZ2
bl.test ()

b3.test ()}

}

What is the result?

A. AB
B. AC
C.CC
D. A ClassCastException is thrown only at line n1.
E. A ClassCastException is thrown only at line n2.

Answer: D

NEW QUESTION 40
Given the code fragment:

abstract class Toy {
int price;
/4 line nl

'

Which three code fragments are valid at line n1?

A
public static void insertToy() {
/* code goes here */
}
B
final Toy getToy() {
return new Toy():
}
c
public void printToy():
D
public int calculatePrice() {
return price;
}
E
public abstract int computeDiscount();
A. Option A
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B. Option B
C. Option C
D. Option D
E. Option E

Answer: CDE

NEW QUESTION 41
Given:

class Caller |
private void init {) {
System.out.println(“Initialized”);

private wvoid start ()} {
init () :
System.ocut.println (“Started”) ;

}

public class TestCall {
public static void main(String[] args) {
Caller c = new Caller{):
c.start(); // line nl
c.init(); // line nZ

What is the result?

A. Compilation fails at line nl.
B. InitializedStartedInitialized
C. InitializedStarted

D. Compilation fails at line n2.

Answer: D

NEW QUESTION 46
Given the code snippet from a compiled Java source file:

public cla=zs MyFile
{
public static void main (String[] args)

{

String argl args[1l];
String argZ = args[Z];
String arg? = args[3];

System.cut.println(“Arg is ™ + arg3l);

H
Which command-line arguments should you pass to the program to obtain the following output? Arg is 2

A. java MyFile 132 2
B. java MyFile 2 2 2
C.javaMyFile12234
D.java MyFile0123

Answer: A

NEW QUESTION 50
Given:
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class Test {
int al:;

public static void doProduct (int a) {

a = a * a;

public static void doString(String s) {
s.concat(" " + s);

}

public static void main(String[] args) {
Test item = new Test():
item.al = 11;

String sb "Hello";

Integer 1 = 10;

doProduct (1) ;

doString(sb) ;

doProduct (item.al) ;

System.out.println(i + " " + sb + " " + item.al):

}

What is the result?

A. 10 Hello Hello 11
B. 10 Hello Hello 121
C. 100 Hello 121

D. 100 Hello Hello 121
E. 10 Hello 11

Answer: E

NEW QUESTION 54
Given the code fragment:

public static void main(String[] args) {
LocalDate date = LocalDate.of (2012, 1, 30);
date.plusDays (10) ;
System.ocut.println(date);

}

What is the result?

A. 2012-02-10

B. 2012-01-30

C. 2012-02-10 00:00

D. A DateTimeException is thrown at runtime.
Answer: C

NEW QUESTION 56
Given:
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public class Triangle ({
static double area;
int b = 2, h = 3;
public static void main(String([] args) |

double p, b, h; //line nl
if {area == 0) {

b = 3;

h = 4;

p = 0.5;
area = p * b * h; //1line n2
}

System.out.println("Area is " + area);

}

What is the result?

A. Areais 6.0
B. Areais 3.0
C. Compilation fails at line n1
D. Compilation fails at line n2.

Answer: D

NEW QUESTION 57

Given the code fragment:

public static void main(String[] args) {
String myStr = "Hello World ";
myStr.trim() ;
int il = myStr.indexOf (™ ");
System.out.println(il):;

}

What is the result?

A. An exception is thrown at runtime.
B.-1

C.5
D. 10

Answer: A

NEW QUESTION 60
Which two code fragments cause a compilation error? (Choose two.)

A. float flt = 100.00F;

B. float flt = (float) 1_11.00;

C. Float flt = 100.00;

D. double y1 = 203.22;float flt = y1;
E. int y2 = 100;float flt = (float) y2 ;

Answer: AD

NEW QUESTION 64
Given:
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class Test {

public static void main (String [] args)

int numbers [ ]1:

numbers = new int [2]:
numbers [0] = 10;
numbers [1] = 20;
numbers = new int [4]:
numbers [2] = 30;
numbers [3] = 40;

for (int x : numbers) {

System.out.print (“ ” + x) :

What is the result?

A. 1020 3040
B.00 3040
C. Compilation fails.

D. An exception is thrown at runtime.

Answer: C

NEW QUESTION 67
Given the code fragment:

int wd = 0;

String days[] = (“sun”, "mon", “wed", “sat"):;

for (String s:daya)
awiteh (s) |

case "“sat?:

case “sun":

wd -= 1:

break
cage “mon’:

wd++;
case “wed":

wd += 2;

}

System.out.println(wd) ;

What is the result?

"_‘-bw

. Compilation fails.

Answer: A

NEW QUESTION 71
Given:
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public clas=ss Test |

int x, v;

public Testiint =, int y) |

initializs(x, ¥y);

public void initialize(int =, int y) {
this.x = = * =;

thiz.y = y * y;

public static void main(String[] args) |
int = = 3, v = 5;

Test cbj = new Test(x, y);
System.cut.println(x + ™ ™ + y);

}

What is the result?

A. Compilation fails.
B.35

C.00

D.925

Answer: B

NEW QUESTION 73
Given:

public class Test |

public static vold main(String[] args) |
Test t3 = new Tesat();
System.out.print (isAvailable + ™ “);
izivaillakle= ts.doStuff () ;
System.out.println(ishvailable);

ki

public static boolsan doStuff ()
return lisAvailakls;

h

static boolean i1sfvailakle = false;

}

What is the result?

A. Compilation fails.
B. false true

C. true false

D. true true

E. false false

Answer: B

NEW QUESTION 77
Given the code fragment:

public static wold main(Stringl[] args) |

StringBuilder =k = new StringBuilder ("Java™);
String = = "Java" ;

if (=zb.toString() .equals(s.toString())) I}
System.out.println("Match 17);

poelze 1f (gb.equalsi(=s)) |
System.out.println("Match 27) ;

Voelze
System.out.println("Noe Match™) ;

}

What is the result?

A. Match 1

B. Match 2

C. No Match

D. A NullPointerException is thrown at runtime.
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Answer: A

NEW QUESTION 81
Given:
clas=s Student |
String name;
public Student (String name) |

this.nams = nams;

public class Test |
public static void main(String[] args) |
Student[] =students = new Studsnt[3];
students[1l] = new Student (“Richard”™);
students[2] = new Student (“Donald®™);
for (Studsnt = : atudents) |

System.out.println (™Y + =s_names);

}

What is the result?

A. nullRichardDonald

B. RichardDonald

C. Compilation fails.

D. An ArraylndexOutOfBoundsException is thrown at runtime.
E. A NullPointerException is thrown at runtime.

Answer: E

NEW QUESTION 86
Which statement is true about the switch statement?

A. It must contain the default section.

B. The break statement, at the end of each case block, is optional.
C. Its case label literals can be changed at runtime.

D. Its expression must evaluate to a collection of values.

Answer: B

NEW QUESTION 91
Given:

class Caller |
private wvoid init () {
System.out.println (™Initialized”);

private wvoid start () {

init () ;
System.out.println(“Started”);
}
}
public class TestCall {
public static void main(Stringl[] args) {
Caller c — new Caller{);
c.start () ;
c.init () ;
}
}

What is the result?

A. An exception is thrown at runtime.
B. InitializedStartedInitialized

C. InitializedStarted

D. Compilation fails.

Answer: D
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NEW QUESTION 92
Given this segment of code:

ArrayList<Cycle> myList = new ArravList<>();
myList.add({new MotorCyclel()):

Which two statements, if either were true, would make the code compile? (Choose two.)

A. MotorCycle is an interface that implements the Cycle class.

B. Cycle is an interface that is implemented by the MotorCycle class.
C. Cycle is an abstract superclass of MotorCycle.

D. Cycle and MotorCycle both extend the Transportation superclass.
E. Cycle and MotorCycle both implement the Transportation interface.
F. MotorCycle is a superclass of Cycle.

Answer: BC

NEW QUESTION 94
Which two statements are true? (Choose two.)

A. Error class is unextendable.
B. Error class is extendable.

C. Error is a RuntimeException.
D. Error is an Exception.

E. Error is a Throwable.

Answer: BC

NEW QUESTION 98
Given the code fragment:

String[] strs = {"A", "B"};

int idx = 0;

for (String s : strs)
strs[idx=] .concat (" slement ™ + idx);
idx++:;

}

for (idx = 0; idx < strs.length; idx++)
System.out.println(strs[idx]);

}

What is the result?

A. AB

B. A element OB element 1

C. A NullPointerException is thrown at runtime.
D.AOB1

Answer: C

NEW QUESTION 102
Given:
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claszs Wehicle |
int
ehicle ()4
thig (100 ; // line nl
i
Wehicle (int =)
thi=s.x = =

}

cla=s=s Car extends vVehicle |
int ¥v;
Car () f
superil;
thisg (207 ; 4 line nZ
i
Car (int vl |
thi=s.yv = v;
i
public 3tring to Stringl) |
return super.x + ":" + this.vy;

H
And given the code fragment;
And given the code fragment:

Wehicle v = new Car () ;
Syvstem.out.println(v);

What is the result?

A.10:20

B. 0:20

C. Compilation fails at line n1
D. Compilation fails at line n2

Answer: D

NEW QUESTION 104
Given the code fragment:
if {avar++ < 100 ¢
System.out.printlniavar + "™ Hello Universel™);
}oelze
System.out.printlniavar + " Helloc Worldl™);:
1

What is the result if the integer avar is 9?
A. Compilation fails.

B. 10 Hello Universe!

C. 10 Hello World!

D. 9 Hello World!

Answer: B

NEW QUESTION 106
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